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SENATOR SCHMIT: No, there is not.

S ENATOR R. JOHNSON: Oka y . So it is a one and a half cent
check-off with an opportunity for the farmer, at the very
beginning, at all times?

SENATOR SCHMIT: At all times to r eceiv e . . .

SENATOR R. JOHNSON: Okay.

SENATOR SCHMIT: ...to get a r eturn o f o n e c e n t , yes .

SENATOR R. JOHNSON: Okay, that xs all I need to know. Thank
you.

SENATOR SCHMIT: Thank you very much, Senator Johnson.

SENATOR R. JOHNSON: I would withdraw the motion, please.

P RESIDENT: N o t> o n r s wi t hd r a w n . I s t h e b i l l r e ad y t o be r ead ?

ASSISTANT CLERK: Mr. President, Senator Haberman would now move
t o r e t u r n t he b i l l .

PRESIDENT: S e n a t o r H a b e rman.

SENATOR HABERMAN: M:. President, members of the body, I rise to
oppose my g ood fr>end, Senator Schmit. He was talking about a
p al l h a n g i n g o v e r t h a r b o d y i f we p a s se d a p ar t i cu l ar b i l l
y esterd ay . And there w i ll be a pall hanging over the
agriculture rndustry, which is the farmer, if we pass this bill.
Wheat went dowr. 5 cents yesterday. Corn w e n t down 1 cen t
y este rd ay . So n ow w e a r e go r n g t o com e around and we ar e g oi n g
to acid onto that a 1.5 cent tax which makes wheat c o me down
6.:'. cents , an"' co n come do w n 2 . 5 ce nt "
'ike any tame ag .>culture wants to do any thing w e tax the
f armer . Now, I d r aw to your a ttention LB 850. That i s
$2 mi l l r on t h at ' .s g or n g i nt o industry to create new in dustry.
We took g enera' tax dollars, o f $2 m xl l i on , t o c r e at e ne w
industry. And I'd say that 75 to 80 percent of that is going to
go to Omaha and Lincoln. But when it. comes to the f armer , no ,
we tax the armer. So why don't we take some of the general tax
money and h elp the farmer? We' ve heard senators make speeches
on the floe - o how destitute the farmer is, he's going broke.
So you t ake 0,000 bushels, 30,000 bushels, 40,000 bushels of
corn, or wneat, and you add a cent and a half onto that and that

=. Now, it seems to me
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